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[*main.c*/
#include <stdio.h>
void a(void);
void b(void);
int x=5, y=2;
main()
{
int x=1;
printf("Thisis#1 line: x=%d, y=%d\n", x,y);
{
int y=4;
printf("Thisis #2 line: x=%d, y=%d\n", x,y);
}
a();
b();
printf("Now, x=%d, y=%d\n", X,y);
a();
b();
printf("Finally, x=%d, y=%d\n", X,y);
}
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[*sub.c*/

externint x;
externinty;
void a()

{
printf("1n a(): x=%d\n" x);
++X:

}
void b()

{
static int x=20;
printf ("In b(): x=%d\n",x);
++X;

+ty;

}
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1. TCPIP

2. 2= 5 (Cloud Computing)

3. DNS (Domain Name System)
4. LMS (Learning Management System)






